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Q1) ( 4 points) Let M = {(a,b,c,d):a =30~ J = 2c+ b}. Find a basis for

M and find dim(M). ) }
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Q2) (3 points) Let s = {22% — 42,3z + 1,5 — 92z} be a basis of P, and let
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u € Py, if (u)s == 2 |, find u.
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Q3) (3 pomts) Let W = {(z,2,9) : &Y € R}, determine whether W a

subspace of R® or not.
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Q7) ( 5 points) Let s = {z> — 1,3z — 2,z> + 2z — 1}, show that s is a basis
of Pz.
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Q4) ( 4 points) If A is 6
nullity(A).
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Q5) ( 6 points) Let W —
and find dzm(Wl) { (1, -1,1, 2)
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X 5 matrjy and nullity(A*) = 3, find rank(A) and

(-1,2,2,3),(1,0,4,~1)}. Find Wt
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